plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain
Rustic / Mahogany

Series N Fiberglass Door

INSWING / OUTSWING

GENERAL NOTES "NON-IMPACT"

This product has been evaluated and is in compliance with the 5th Edition (2014) Florida
Building Code (FBC) structural requirements including the "High Velocity Hurricane Zone"
(HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to
base material shall be beyond wall dressing or stucco.

When used in the "HVHZ" this product is required to be protected with an impact resistant
covering that complies with Section 1626 of the FBC.

When used in areas outside of the "HVHZ" requiring wind borne debris protection this
product is required to be protected with an impact resistant covering that complies with
Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that shown
for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

Outswing configurations meet water infiliration requirements for "HVHZ".

Inswing configurations do not meet the water infiliration requirements for the "HVHZ".
Inswing units shall be installed only in non-habitable areas or at habitable locations
protected by an overhang or canopy such that the angle between the edge of canopy
or overhang tossill is less than 45 degrees.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

1 Typical elevation, design pressures, & general notes

Door panel details

Horizontal cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction

Frame anchoring - 1X buck masonry construction

Astragal details

O N|N[ OB W|IN

Bill of materials and components

74.00" MAX. OVERALL FRAME WIDTH

81.63" OVERALL FRAME HEIGHT - INSWING

80.50" OVERALL FRAME HEIGHT - OUTSWING

O

©@

INSWING

74.00"
X
81.63"

+50.0

-50.0

OUTSWING

74.00"
X
80.50"

+50.0

-50.0

10

)

o)
D)
oM
z
= 4
Lo
n .
go
Sc@?
1 00w
3>,,sm
7)

\ Zono
‘\ Onmz
) O N -
o, S ¢

o O Xz %
° = zZ 9“0
§ Eo 500

£0 c
¢ 0 =Zgon
Sa® 359cnm

¢ Do
gy
0

o ¢
E 6% §
3 Cu @

[*] .

a 2ad
%)
=
SO
E)JZ
o o -
o &
e} Nid
=g ZEX
S
owls =
xo| 5l <©
=30 O
o |
%))
LI_I(/) Ll
Lof<] I
= LLQ: (\)U')
S ol &0
o x o
x < Q.
o a
Sl
I
[
N
<
o
I »n
i =
o (@)
Y ;
=t 2
Sl
4
e
i
<<
(&)
a
)
wn
L
N=
QS
-
O O
_lo
z
oATE: 02,/20/12
scALe:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-15220.9

SHEET 1 oF 8

R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15220\C - Drawings\Current\FL-15220.6-10.dwg, FL-15220.9

© 2012 R.W. BUILDING CONSULTANTS ING.



RA\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15220\C - Drawings\Current\FL-15220.6-10.dwg, 4-2

35.75" MAX.
DOOR
PANEL WIDTH

>

79.25" MAX. DOOR PANEL HEIGHT

O O

N

SEE
HARDWARE
~ CHART

J[ |

43

INTERIOR

EXTERIOR

/"2"\ HORIZONTAL CROSS SECTION

1.22"

e
=159~

‘-—-—* 81"

LATCH / HINGE STILE 49 LATCH & HINGE STILE

Cellular pve

1.39"

- 1.59"

. LOCK BLOCK
20" Long

Reinforcement

1.12"

= 1.59"

TOP RAIL
Cellular pvc

. DOOR PANEL

SIGNATURE SERIES
KWIKSET DEADBOLT:  SIGNATURE SERIES 780
YALE LOCK: YH COLLECTION
DEADBOLT:  YH COLLECTION (80 SERIES)

113"

|-<7 1.59" —»{

BOTTOM RAIL
Cellular pvc

7“1\ VERTICAL CROSS SECTION

Lyndon F. Schmidt
P.E. No. 43409

Ry

BUILDING CONSULTANTS, INC.

P.O. Box 230, Valrico, FL 33585
813.659.9197

Phone No.:

FBPE C.A. No. 9813

\2/

]
('l =
O =
OS o
=0 I
nl..
alx ©
aS|al 2
HQ = <
Yy a o
ady o
i o 8
O
2 o
|—
el |&
o o.
x>
o
®
[y
—
3
(&
S
|18
o
o2
=
~
i)
1
o
i
oQ
Qo
o]
0
Ll
N=
QS
3
O O
—lo
z
0ATE: 02/20/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15220.9

SHEET 2 oF 9

© 2012 R.W. BUILDING CONSULTANTS ING.



|

0

&>

INTERIOR

-

EXTERIOR

INTERIOR

00

A

N
2

RN

(AT

AN

.o A

N .

a- N

' SO
oy Ly
Vi R

EXTERIOR

Q
®

| - a [
/\ BN :
(O a
4
R o
IS a

m HORIZONTAL CROSS SECTION

w Shown w/1X sub-buck

INTERIOR

EXTERIOR

15"
C-SINK —m] [
(TYP.)

1-1/4" MIN.
EMB. (TYP.)

e

S NS

OONK

-

:

) \/
‘ -
’ N

/"1 "\ HORIZONTAL CROSS SECTION

w Outswing shown - inswing

also approved

0 %Dd%@é

-3

1-1/4" MIN.
EMB. (TYP.)

10
o
0
.M
(Z)")
=
Lo
2sa
Z 0.
Sca?
J owow
S>>0
SRS
5 gRz2
d.
. 0 xz3
® € Zm
€ cd 4§ 2w
§'o$ 2500
" ) cm
Lw 35
Y moau
2y
€ ¢
E 6%
8 2uj @%
[+] .
a 2a
w
=z
&)
o
o
8 &
S
ZQ 75}
v
own
&0l 8
0_5—’
= o ©
0 Ols| _|
SQ:LLJ(
LLJU)',_
Q_@U}Z
i NS
[2'
S S| ¢
(]
o El T
© <
o o

JK
BY

O
e
—~
~
o
IS N %2
4 . %
. [
. >
=
N : 0 ’a‘:"
‘ 2
Ly
& [
B S
o
: D
& ™
N
S«
IS } ()
o o
_lo
. z
1S
g oATE: 02/20/12
. SCALE: N.T.S.
.. DWG. BY: JK
CHK. BY: LFS
sb DRAWING NO.:
G FL—-15220.9

SHEET 3 oF 8

R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15220\C - Drawings\Current\FL-15220.6-10.dwg, 4-3

© 2012 R.W. BUILDING CONSULTANTS INC.



TON| SANVLINSENOD aNIging "M gLtoz @

€186 'ON V'O 3ded SNOISIATY
L6L6'6S9°CL8 "ON 8uoyd Ad J1vd JONJ« o)
S6SEE T4 ‘OOUIDA ‘0£Z X08 "O'd \§ SNOLO3S SSOH0 WOLLAIA P 084 (¥10z) "G3 HIS Ol 3vadn| ci1/zz/vol L |N\] U |X £ m 8_
"ONI ‘SINVLINSNOD ONIdTINg @ *AJBW3SSY ¥0 1dvd Q= 17,8
J000 5SSV 10438 N g2 >
80¥SH "ON “I'd "ONI 04d1SY1d S &l 5lg |,
IPIWYSS 4 UopUAT i dle|e|E T | B
:10N00¥d HEIHEHEE 5
o
» ~L @) (dAL) 'gna _
2 S i NIW ¥/1-1
\\ .-o o Ny > v
%, oA & a e
7, ML T LS v -
\\\\\ \SIOm Wa//// v
ST L
L,
L >
-8
S SRR ¥
“ f o
o
(dAL) "8W3 w.m
NIW ./ 1-1 m’w mv
] . —lE
7 38
. joc 3¢
o, o S
o O S\g
< oz .
: 2 b @
oz N v
o .
= ,
E N 5 . %
= 9) R
& a . v <
(%3
w2
2
O\
A 3=
~
Sz
o SE
w o
@ g 2
o
("dAL) "aw3
NIW ¥/ 1-1
S =
o ]
T
o P m <
O = idr
~ b dle]
2 8l5
Z Ye &S
=l e Oc
3 -8
”.m < o
ol S K=
&l zo el
Vigo &S
N. £3 >0
” U nnuvnDu.. a. .,
whn 20 » A ™|«
w58 o ,
>|00 O :
>
o) | <
® S
o (dAL) w3 _|
= NIW /11
Ll

v-F BMP 01-9 0225 1~ 14WUSHND\SDUIMEIQ - D\0ZZG - 14\51eA0iddy 10npOid BPHOI\LNINVINGId oul OIAISe|d\SIUSID\Y



¢

7

e £
PR
4
4 -

rd

-

MASONRY]

OPENING

OUTSWING !

Q\L'W,LD

|

TYP. HEAD !
& JAMBS !

TYP. @ SILL ”

—— 3"
] 7|I 6"
|

SEE DETAIL 1

t\_ -
SEE DETAIL 2

—

—— 4"
. _ / J—— r‘ 8" 4" __>’ I
e 111 "1 T
d‘ ‘,( ‘=<‘

R_ P. HEAD <:;
MASONRY & JAMBS =
OPENING

><' —

.

2X BUCK NE ~ ks —

33 .’
2]
)

N - o
BUCK ANCHORING ASTRAGAL STRIKE JAMB
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

ITw

apcon® | 14 1-1/4" 2" 4
ELCO " " w "
ULTRACON®| 174 1-1/4 1 4

WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws fo prevent the splitting of wood.

FRAME ANCHORING

Masonry 2X buck construction

9"

i

.
W
_
i

31.25"

HINGE JAMB

/4

Y,
/4 DETAIL 2
LATCH & DEAD BOLT DETAIL Attach astragal throw bolt
strike plate to frame
1/ as shown
fiPe
T
%fﬁ%%?ﬂb’ > = S
N
C o o]
/ DETAIL 1 DETAIL 1
7 Astragal throw bolts Astragal throw bolts
at the threshold af the threshold
HINGE DETAIL (Outswing) (Inswing)

0
o
0
.9
oM
z
.__]'\
Lo
2sa
z8an
= S0s
Sgag
D oD
v &R
& oo«
v B Q523
EEO) va
o
g £o 8 cuw
£ Ay 50284
e "? @dalk
T
[}
6 ¢
£ 6% §
3 U .,
g sul
o 2a
>
Nz
S
=
T3
& oSk
SRS T~
=z Y%
ow <9
& Of > w®
A Sla =
oI5 B2
=88 -5
o< 2
K x E=
3] S <
S X
Q - x(.)
o ] O
x | 2m
o ol M
x>
m

1 104/22/15 |UPDATE TO 5TH ED. (2014) FBC

REVISIONS

L
<
(i)
O
pd
2

DATE: 02 /20/1

scAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15220.9

SHEET 5 oF 8

R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15220\C - Drawings\Current\FL-15220.6-10.dwg, 4-5

© 2012 R.W. BUILDING CONSULTANTS INC.



v;l

onlpe

:

A
ll L1 1
Q\or

o |

—®

//
/ /4
¥/
HINGE DETAIL LATCH & DEAD BOLT DETAIL
@)
X
DETAIL 2
> NS Attach astragal throw bolt IS S
strike plate to frame
o as shown o
DETAIL 1 DETAIL 1
Astragal throw bolts Astragal throw bolts
at the threshold at the threshold
(Outswing) (Inswing)
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

ITW " " U] A
1apcon® | /4 1-1/ 2 4
ELCO " " " A
uttRAcoN®| 1/ 1-1/ 1 4
'TW ® 3/1 6" 1 -1/4“ 3" ] -] /2"
TAPCON

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the

splitting of wood.

14.00" MAX.
O.C. (TYP)

¢
— _-__3n
7"
S TYP. HEAD 1 o
R & JAMBS | SEE DETAIL 2
S I
< MASONRY 1
OPENING I
/1
FRAME X
F N |
T |
i !
3 |
1X BUCK \ I
—) INSWING 1
- |
o OUTSWING 1 SEE DETAIL 1
s TYP. @ SILL
g4 'v; ‘ H l '
ASTRAGAL STRIKE JAMB FRAME ANCHORING

Masonry 1X buck construction

i
N
™
*
Ej |
.
L3
.
i
2
)
L ]

!
P
n

HINGE JAMB

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS,
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE C.A. No. 9813

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

FRAME ANCHORING 1X
BUCK MASONRY CONSTRUCTION

K
BY

1 104/22/15 |UPDATE TO 5TH ED. (2014) FBC

REVISIONS

e
<
a
o
4
2

DATE: 02,/20/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15220.9

SHEET 6 oF 8

R:A\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15220\C - Drawings\Current\FL-15220.6—10.dwq, 4-6

© 2[312 R.W. BUILDING CONSULTANTS INC.



TON| SLNVLIINSNGOI SNiaTing "m'd z1Log 9

€186 ON VO 3dai SNOISIATY
L616'6S9°CLE "ON 8uoyd A8 31v3d [ON] 2 |
GBSEE T4 ‘O9MIDA ‘0E£Z xog ‘O'd \Sv STvL30 wovdLsY M0 | 084 (#102) 63 HIS ol vadn| si/ez/vol L || UX (L] Q F*
‘ONI ‘SINVLINSNOD ONIaTINg g« KIW3SSY 90 Luvd 8 M LN |8
c,:ﬁck::e §000 SSV1943ad NERREIR
O /g, 60YEY ON "3'd ONI 0¥dISY1d S lglsle T
N ..@ “,  Ip1uysg 4 uopukq 2| eE T E
.... ¥~% A8 peipdesd sjuewinsog 110NQ0¥d HEIHEE %
; 18z s/zzy
F . 60¥EYON ¢
. . g
- - S
\\ «occsogzmaaoooo“) /I/
i Giie S
“, WHOS W
TN 1 o
%o
g . =
<> wum m-mv
o —35
53552
o Q283%
memo
Rk =
3=528

20.000"
@

S N i
117
A
] JAE0B —— |=—
.
i L | 8
fe)
N
<
H .050°0 M
(7]
‘ & & 2 I &
: ¥ = Jv & °
o < -
> O m o
= A S S
® : - LN g
o W (D) B W
A\ [l
2 “ » w E
ot
® V A D
A Q m
& %» A o
< & ! =z
A N O
! O
A 160 —=] |- @
®
<
O
o _ ) -
bR £ 2
Ry ° & P
o o 8
o
o - i
~
o
i
N
o mﬂﬂ “ |
oG
w—d
* <
) o
5 N
.ﬂ <O
..ww.N =

L% 'BMP0T-9'07ZST-T\WuaLN\sBuImeIq - D\0ZZST-T4\s[ercddy 1onpoid epLojd\LNINYINYId dul ‘oidiseld\siusiD\y



BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A | 1XBUCKSG >=0.55 WOOD

B | 2XBUCKSG >=0.55 wOOD

C | 1/4"MAX. SHIM SPACE -

D |1/4'X2-3/4"ELCO OR ITW CONCRETE SCREW STEEL

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

G | 3/16"X3-1/4" PFH ITW CONCRETE SCREW STEEL

H |1/4'x3-1/4'PFH ELCO OR ITW CONCRETE SCREW STEEL

I 1/4" X 2-1/4" PFH ELCO OR ITW CONCRETE SCREW STEEL

J [ 1/4"X 3-3/4"PFH ELCO OR [TW CONCRETE SCREW STEEL

K | #9X2-1/2" PFH WOOD SCREW STEEL

L | #8X2-1/2' PFH WOOD SCREW STEEL

M | #8 X 2" PFH WOOD SCREW STEEL

N | 1/4"x3-1/4" PFH ITW CONCRETE SCREW STEEL

7 | FORCE 5 WEATHERSTRIPPING BY ENDURA FOAM

8 | COMPRESSION WEATHERSTRIP QLON 650 BY SCHLEGEL FOAM

9 | 4'X4"BUTT HINGE STEEL
10 | #9 X 3/4" PFH WOOD SCREW STEEL

11 | #9 X 3/4" PFH WOOD SCREW STEEL
12 | #10X 3" PFH WOOD SCREW STEEL
20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD

21 | POLY FIBER JAMB COMP. / VINYL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT PLATE STEEL
29 | OUTSWING THRESHOLD BY DLP ALUM./WOOD
30 [ INSWING VINYL DOOR BOTTOM SWEEP VINYL
33 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -

41 | DOOR SKIN (MIN. 0.069" THICK) BY PLASTPRO FIBERGLASS
42 | TOP RAIL CELLULAR PVC
43 | LATCH & HINGE STILE CELLULAR PVC
45 | BOTTOM RAIL CELLULAR PVC
46 | POLYURETHANE FOAM BY PLASTPRO POLYURETHANE
49 | LATCH AND HINGE STILE REINFORCEMENT WOOD
50 | LOCKBLOCK (20" X 1.385") WwOOD

71 | ASTRAGAL BY DLP (6063-T5 ALUMINUM) ALUM.
72 | ASTRAGAL STRIKE PLATE STEEL
73 | #8 X 2" PFH SCREW STEEL
74 | CONCEALED STIFFENER BY PLASPRO (6063-T6 ALUMINUM) ALUM.
77 | SLIDE BOLT ROD STEEL

o~

4.54" -

—‘—— U \J )
¥/\_\ -i
& L—— 236 — =92 | S

HEAD & SIDE
Jamb

0.75"

* — 4.56"
* ! 2.44" ~i 213"
HEAD & SIDE
Poly fiber jamb
4.56"

r"""l
S

t‘—-—'J*‘ 1.38

G

33

ADJUSTABLE INSWING THRESHOLD

~— 203" —~

==

29 OUTSWING THRESHOLD BY DLP

—— 454"

B NS
seee " \
L a\g
’:‘ﬁn\“‘

', Sl
I/I'o“

-n....&..mo

Ss.

/,

)
813.659.9197

7
%,

”,
P.O. Box 230, Valrico, FL 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By:~,\J,

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE C.A. No. 9813

1.75"

PLASTPRO INC
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

JK
BY

1 |04/22/15 |UPDATE TO 5TH ED. (2014) FBC

REVISIONS

o
<
a
o
z
2

oATE: 02/20/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15220.9

SHEET 8 ofF 8

Ri\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15220\C - Drawings\Current\FL-15220.6-10.dwg, 4-8

© 2012 R.W. BUILDING CONSULTANTS INC.



